<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

x1073 0.2 x1073

E ! ! ! A ! !
: : : : T 5 :
0.15F A EE SR  E | EO i ER Z 0.5k -+t : | R A
o Y . I o o Y .
o 2 : : kel o Y X
0.1 {ANE BN Ml VIR S SRR , | N SR
B it : : - :
0.05F 1k Ml 0012 SERRRRRRE | [ SRR B |||} SO || SRR SRS
F 22| [ : F
OF TIE Tl Ofp------r- LR B A S B AR R
-0.05F i -l ~0.05f -t o F LR
—0.2F |3 HHHE M- o T || RS
~0.15F |-~ |- (R | B B SORT:12 SRR SN |1 S8 FRR N 8 R ST
F F H :
_0.2_||||||||||||||!||||!||||!|||| 0_0.2_|||||‘|||||||||!|||||||||!||||
va Lol 8- Aok n-: - - % ]_i-" - i) FeT oo - o - e - For| --.!-
: 4
0.9 -Fe| - 0.9fF
083 10 12 3 8T 1 0 I 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

100

<od,> (um)

o
TTT [T T T[T T T[T T T[T T T[T T T[T T T[T T[TTT[TTT
i
=
x
P ]
A
o;_ :
g
o
&
L
e
N
o o
<

JC— e — :
!
s%:
-.§._+:
- N
Pl
£
_._._._—-—i :
LS ]

9
4 - 111 - ¢ - e 5 -
: TIT(TTE ] ool HAL--H-- EH - HHEE
oottt B IINENENE TR It osgfitl- IR+ -t A ot

9321 o0 1 2 3 32 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

1»- :- 4:.,,»-':1-.1 F EI- e o E--- «p:;lmnm-n
3 =2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


